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لخدم

لخدم

XوأpdfLATEXىلعادامتعا)راسيللنيميلانمصنلاهاجتا(يبرعرميبضرعءاشنا ELATEXلازام

اهلدجويمليتلاوطباورلاوناولألابقلعتيامةصاختاقوعملاولكاشملانمريثكـلاهضرتعي

.دعبالولح

Javierـلومهلركشلا،لكاشملاهذهلالولحدجوأLuaTEXقيرف Bezosةمزحلابهلامعأل

babelنيهاجتالابةباتكلااصوصخو)bidi writing(

ىلإنيميلانمضورعءاشناضرغلbeamerتاميلعتورماواضعبيفلدعت)class(ةئفلاهذه

ةجلاعملاوbidi=basic-rرايخلاعمbabelيعدتستةئفلا،)لاثملاليبسىلعةيبرعلا(راسيلا

LuaLATEXمادختسابلطتٺ
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ةئفلالامعتساةيفيك

ةئفلالامعتساةيفيك

\documentclass{beamer-rl}
\babelprovide[import=ar-DZ, main]{arabic}
\babelfont{sf}{Amiri}

\mode<presentation>{\usetheme{Warsaw}}
\begin{document}
...
\end{document}
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تاظحالملاضعب

Iتاظحالملاضعب

beamer-rlةئفلاءاعدتسادنعbeamerةئفلااهحيتٺيتلاتارايخلالكةفاضانكمي
:لكشلاىلعbeamer-rlةئفلاءاعدتسادنعbabelةمزحللةيفاضاتارايخريرمتنكميامك

\documentclass[babel={<babel options>}]{beamer-rl}

وblacktriangleright\نيتميلعتلانملكللدابتبموقتbeamer-rlةئفلا

\blacktriangleleftراسيللنيميلانمصنةلاحيف

\blacktriangleright \blacktriangleleft

LTR context J I

RTL context I J
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تاظحالملاضعب

IIتاظحالملاضعب

لثمتادرفملاضعبةمجرتليبرعسوماقءاعدتسانمنكميةئفللarabicرايخلا

example ،definition ،theorem....

\documentclass[arabic]{beamer-rl}

ةمزحلااهرفوتيتلاbabelsublr\ةميلعتلالامعتسانكميتالاحلاضعبيف

bebelليبسىلع،راسيللنيميلانمصنطسويف)ينيتال(نيميللراسيلانمصنجاردال

.راسيللنيميلانمصننمضpspictureمسرجارداىلإةجاحلالاحيفلاثملا

\bebelsublr{LTR context ... }
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تاراطإلاةلثمأ

تاراطإلا

\setbeamertemplate{blocks}[default]

دتسروأ

نعفرحنتةلصوبلاةربإنأبراجتلادحأدعُيوهو1820ليربأ21يفدتسروأزناهظحال

.اهدعُيةيئابرهكةرئاديفرايتلاحتفيوقلغيناكامدنعلامشلاوحناههاجتا

\setbeamertemplate{blocks}[rounded][shadow=true]

دتسروأ

نعفرحنتةلصوبلاةربإنأبراجتلادحأدعُيوهو1820ليربأ21يفدتسروأزناهظحال

.اهدعُيةيئابرهكةرئاديفرايتلاحتفيوقلغيناكامدنعلامشلاوحناههاجتا
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مئاوقلاةلثمأ

enumerate, itemize

ةيقيبطتءايزيف1

ةيبيرجتءايزيف2

ةيرظنءايزيف3

\setbeamertemplate{itemize item}[triangle]

Jةيقيبطتءايزيف

Jةيبيرجتءايزيف

Jةيرظنءايزيف

I first item

I second item

I third item
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طباورلاةلثمأ

طباورلا

.لوألارصنعلا

.يناثلارصنعلا

.ثلاثلارصنعلا

ةيناثلاةحيرشلاىلإعوجرلا
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طباورلاةلثمأ

طباورلا

.لوألارصنعلا

.يناثلارصنعلا

.ثلاثلارصنعلا

ةيناثلاةحيرشلاىلإعوجرلا
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طباورلاةلثمأ

طباورلا

.لوألارصنعلا

.يناثلارصنعلا

.ثلاثلارصنعلا

ةيناثلاةحيرشلاىلإعوجرلا
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تايرظنلاةلثمأ

تايرظنلا
The proof uses reductio ad absurdum.

ةيرظن

There is no largest prime number.

.ناهرب

1Suppose p were the largest prime number.

2Let q be the product of the first p numbers.

3Then q+ 1 is not divisible by any of them.

4But q+ 1 is greater than 1, thus divisible by some prime number not in
the first p numbers.
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تايرظنلاةلثمأ

تايرظنلا
The proof uses reductio ad absurdum.

ةيرظن

There is no largest prime number.

.ناهرب

1Suppose p were the largest prime number.

2Let q be the product of the first p numbers.

3Then q+ 1 is not divisible by any of them.

4But q+ 1 is greater than 1, thus divisible by some prime number not in
the first p numbers.
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تايرظنلاةلثمأ

تايرظنلا
The proof uses reductio ad absurdum.

ةيرظن

There is no largest prime number.

.ناهرب

1Suppose p were the largest prime number.

2Let q be the product of the first p numbers.

3Then q+ 1 is not divisible by any of them.

4But q+ 1 is greater than 1, thus divisible by some prime number not in
the first p numbers.
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تايرظنلاةلثمأ

تايرظنلا
The proof uses reductio ad absurdum.

ةيرظن

There is no largest prime number.

.ناهرب

1Suppose p were the largest prime number.

2Let q be the product of the first p numbers.

3Then q+ 1 is not divisible by any of them.

4But q+ 1 is greater than 1, thus divisible by some prime number not in
the first p numbers.
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ريبكتلاةلثمأ

ريبكتلا

Image

\framezoom<1><2>[border=2](3cm,2cm)(2cm,2cm)
% (3cm,2cm)=(<upper right x>,<upper right y>)
% (2cm,2cm)=(<zoom area width>,<zoom area depth>)
\pgfimage[height=5cm]{example-image}
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ريبكتلاةلثمأ

Imageريبكتلا

\framezoom<1><2>[border=2](3cm,2cm)(2cm,2cm)
% (3cm,2cm)=(<upper right x>,<upper right y>)
% (2cm,2cm)=(<zoom area width>,<zoom area depth>)
\pgfimage[height=5cm]{example-image}
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